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1.
Write a MatLab® script to solve the system of two nonlinear equations using the 
Implicit Iterative Method.  Use a tolerance of  5.0E-05.  Send the source (m-file) 
file by e-mail, as well as handing in a printed program listing.  Format the output 
nicely.

4y2 + 52x – 19 = 0

y – x2 = 0

2.
Write a MatLab® script to solve the system of three simultaneous linear equations 
using the Implicit Iterative Method.  Use a tolerance of  5.0E-05.  Send the source 
(m-file) file by e-mail, as well as handing in a printed program listing.  Format the 
output nicely.

x1 + 5x2 – x3 = 7

5x1 + 3x2 + 2x3 = 4

-x1 + x2 –3x3 = -1
